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FIRSTYEAR HIGHER SECON~ EXAMINATION MARCH 2017

SUBJECT: MATHEMATICS (SCIENCE) CODE. NO: 618

Un Sub
No Qns

Answer Key/Value Points

1
2.

3

1 (~
(b)

(c)

_L
'0:
ces x -=- ~ l-Slo'L?(.-=- ~ 1- ~. - --1.

5

Score Total

.1
2..

1..
L

J_
2...

j_
L
_L
L
.l..
2..

.1.z:

Sec.x _ -5
4-

tan x_ _ - 3- 4="
Cot ')(_ =- -±

.3
Q.e111ayks~ A\+e.rnak me_\hoA ~\Ve -tu.\\ SC1\fe.

Wi-\h out n~l\'hve s isn dive

OR
(0) ~IO , I
(b) tan -,5 =- tar) 0-S- +30 - 1.

=- toYl lts- + to n 30·
2..

\- tC..fl4S t:QY)~ _.1...
2-

I~ Score.

Sin bX + Sm a~- SIO 4-)( =0
~ SIO trlL Cos ~ ')(_ - SI') 4x_ ::=. 0

Si') £r?L ( aCoJ ~'X. - D = 0

(t)
Cos 0?1l~ C:>J ~

?l=Y\n-t 1f

,/;

------- - --- --



Sub Answer Key/Value POints-- Score TotalQn
No Qns

k ['L 1- "L "L 1- 2:l-= L'" a +b - c, - c. - C\ +~
~ \, [b~_Gj

Stnl\\e_ll~ b Sin (_(- R) =- k CL'L__q~

C. Sin ~-rf) = k La.'L-h~

1..
z,

.i,z,
..L
L 3

2

~ma'fll-: . L\-\S = 0

-fer S~b+mchon -fonnulq Slne.·forffiU\Q CoSine ~rmu ~&'ve t Score each ) )

(q) Oi) A
(b) AUB = L~JbJ(JdJe(-tJ~}
Li) AI=L4,f',~} Sl:{h,d,e,t}

~\JrfJl= {_+} ) A' () a' = tf }
(L) n(AUB)= ltoo) n(~)=~50) n(B)=;;}OO

Yl LAns)= n( I\)-ty) lB)- n(AU~
=51)

kem411 : -fO.( anal:,,; f." ~he problem ::lIve Fu LL ScoR~

-I

,
1
2...

...Lz,

2-

2-

'aYl-' d3 Le.b Pen) : \0 --+ I \S 'l'ItSlbt~ bj II
P(I) = \0 +l = II r 0) is +,ue _ I

)

Assu,(,() e_ ~~al:- p(k) is +Tu.e \~\<- ~ \ rs dll~ _ \
I

P Ck+0 '::: I~):.-t 2- 1+ I _I

.- ~\c. ...\' 'L
- 10 '. to + \
= lo~k-' [4'1+!]-+ I

~\c..-' ~k-\ / )
= to . 99 -+ to -+ I -= ~ \...._II - I

., 'P Ck +D is 1::rue 4

4

4 (a) (IiI) R- Ll} I

(b) R =- l(!, \,)It?, -v ,(~I %)} I
d.Q~a'n l_IJ'2.r3\- RC:H)~-L{.,Jl,81 1+) 3



No Qns
Sub Answer Key/Value Points----'Qn Score

2.

Total

b

~ern4l~
foy- Ct>lTec~ ~:rqph

(c)

'1'
(,jll~ OLlt -tabular Column Jl,ve FULLS~Rt

)(

Cb)

CO) Git) - \
o..=J"2, b=t)

'"1=-2.
+on e -= J_ fj:::_!L Cl'l 30e

'\[3 } b

~ = ~{_CDs t +~\Sln ~ )

-roT toTIf)~\Cl O've. -k. Score eac.h

{-S-bi _ X_+~~
0. I. 'L "L '<"\

- 0 -\:) A _?l. -..j + A O(?l~
'L 'L

1t. -~ =- -8) x.~ -= -3
'L "L

't- +~ =- 10

A..-= il) ~ -= ±.3

n.. .", J-S-bi -= -1+A3 or l-j:,
~m4rl .

A\~Tna.te. mel\iod 8.1ve FULL SC.ORt
~'( ~~~yl.)~(;;-1._'d'L)~+@'X.'j)7- 31"(. ){ 5c.o'fe

:G C~ «'X._ > 31l-t b I

(c)

j_
2-
..L
2-

-j__
2-

..1
2...

J..z,
..L
2-

2. 3

'2

3

2(b)



8

2

No Qns

ReTf)(\l'~.f'O"f etc.\) hoe cpve.1 Sco.e)
• tor (Or-redo. \lVle and Intoned- rea-ton 8-Ive 2.1: SCIre
• W,\K out- consldenn8 dokd Ilo€ ~lve FULL $(O~E

ok dr8W\~ Cotes Ofl~~_filve Yl... Sc:ore

Qn Sub AnswerKey/ValuePoin~ Score Total

7 ell.) Q(t) Co 4- .
(b) NUrf)b~T D~ W~S = b"P2..

~ ~O(c)

~ -0)1. (J-'!X_b-!X2--o t
6-.) t:Co -"l) = 12
')~ 131+30 = 0

"'f= 10 0'1'.3

I=-3
~mo.f~ -1;,'( \he fnTmlA\q np'( 'i}lve )I,_ SCOl11

OR(0.) 17 (rij)
(b) 12. (2. =.GG

Re{Ylo.n toT nLr ~Ive YLScare

(C.) ToW !\umb«'To~ w~s ~ 5'2C4-
(i) nUmbel o~ WQ~S = 4- X 13Llt

-::::.~8Go
~mafl:..for l2>L4- ~we. -\:_St0'r£.

(it) nuW)ber of- wa~ =- ~)( ~6(4-
'%: ~4900

~fl141! tel" ~b~ ~"e ~Secre

Co.) (til) 0
(b) 3~= -G'X+S""

~ - ~)(+ ~
..L
2--+

J

2

3

I
)



Qn Sub Answer Key/Value Point~
No Qns

m ~ - ~ ) C=. ·56 -t of t
R_em~!l:-toT .,'j=IYj'Ht: 3I~~ .Is..)coreJ for ~ rd,,; ~ dIred- slope anl

!:J lo\-eyte.pt 'ij-lve I Score
(I:.) lei- &/ Q) be..It. POI'ob- 1:

~&-_!)L -+ 36 =~L?t-~1. -t 16 t
-x,'l:_ \'t~ +~9+36 =: 'X..~b x+4 -t (6 .1.

2...-ax -= -bo ?l= (~2. 1..POlnr is Qo/:L I 0) I 2_

~T dl~~ote folff}\llq ~ve .kS~re

2.

( tt) tt~ b
~ '2.. ltQX.
~ "=- ~ If x,

i
I
.i,
L

10

(a) (\0 ~ - OR.

(h) Le.t- lk- qi ~r .be \G nllmh~Y_s_

Score Total

2

'2

.', a =-1

- • - ...<....



No Qns
TotalQn Sub

"

Answer Key/Value Points .___.....

(to G,'O I \
(b)

l . I

11 (~
(b)

Score

2

b

3

3

13 (Q) Cit) I V

(b) lt~ oJ l+1t _I
?L-40

(c.)

2..



Qn
No

Answer Key/Value POints.!'_!../Sub
Qns

I~ ~ Y\(.UY)beT lS 'no~dt\llslble b~3 '1hen l~',s I
no\: dl'V'~lble. b~ <1
A Ssume -that ~ IS '(<:thona' ..JS ~ ~ .6\ Itnd b
ha.v-e. no u:nvwy\ 0n fn eJo ys J

~ 1._ !J b '2. ~ 5" ell'" d~s Gl

a.::. Sk) tl'L_ ~b k1.. s-.b~; ~sk1.. b~5k2..
J ~

~ 5' d"'Ides b
It IS <I. Cbnhndi~hon OUT Q!suntphon Is "'Yt>~

.l+lL ~

I
4

Score

\

Total

16' ~Ct\) [i) t I

GD ± (.for a~ ClnSwe.T glV~ \Sme) 1
(iiI) I I

(_b) n(s) ~ 36 i
CO) 11(_A) =b J PCA)= ~ ±

~\'Y)dT ror WTI-Mna- t(I, I)P.J9(3J~e.,0~1~(" 19} :lIve }._S",",
(10 hC!!) ~ s i..

P rt3, ==- 1[_ .J...
b .\ \._IV 3b 2-

~ B~t~/0(3/!V&-(~(?/~~/'9j ~Ive Yz_Stoy-e.
~T WTIt.~ l~ SQ"]Ele. S~(e. S ~Ive. k_Sc.ole

\6

15" G 40 , 6
ao 3 (,0 b 18

~~~~S--~~S~~~~~~~ __~fI__ j-uS~5~,f: ~ 2tSD. ..L5'...B.

_' __ . ------

3

2

3

5.


